Addition and Subtraction

S+6-=1l 2-9-3

I+ 8 -

5 -7 -

20 - 12 -



Challenge

Alice has 10 suwreets. She girves b to Jensen. Houwr many
does she harve Left?

Ella has 6 green cars and 8 blue cars. How many cars

does she hare ali:agzi:h,er?

Harry is wearing 13 stickers. 9 Jall o). How many does

he hare lz{li:?

qurgz has 16 slices 0{@ pifzza. He 91/\/“2/& 8 slices Lo

Minnie. How many does he have LeJt?

Eric has 3 Jlaai:ball cards, Oliver has & }Uai:ball cards

and Seb has 7 Joothall cards. How many do they harve
aliugzihzr?



